Multiplication et Division par 0,1 (F)

Trouvez chaque produit ou quotient.

3,0631 x 0,1 = 75+0,1=
6,8218 X 0,1 = 9,6748 + 0,1 =
2,007 X 0,1 = 2,6605x0,1=
9,428 X 0,1 = 9,6 Xx0,1=
4,618 0,1 = 3,9376 - 0,1 =
9,9x0,1= 7,4088 x 0,1 =
1,4+01= 2,4+0,1=

44 +0,1= 503x%x0,1=
6,741 + 0,1 = 9,46 X 0,1 =
9,303 + 0,1 = 7,7 %X0,1=
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Multiplication et Division par 0,1 (F) Solutions

Trouvez chaque produit ou quotient.

3,0631 x 0,1 =0,30631 7,5+0,1=75

6,8218 x 0,1 =0,68218 9,6748 + 0,1 = 96,748
2,007 x 0,1 =0,2007 2,6605 x 0,1 =0,26605
9,428 x 0,1 =0,9428 9,6 Xx0,1=0,96

4,618 - 0,1 =46,18 3,9376 ~ 0,1 =39,376
9,9 x0,1=0,99 7,4088 x 0,1 =0,74088
1,4+01=14 24-+01=24

44 +0,1=44 5,03 x0,1=0,503
6,741 +- 0,1 = 67,41 9,46 x 0,1 = 0,946
9,303 + 0,1 =93,03 7,7%x0,1=0,77
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